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.tran 0 2e-2 1e-4 1e-8
;.op
;.noise v(Output) Vin dec 99 4e1 1e7

.options plotwinsize=0 numdgt=7

.param prb=0

.four 2e4 20 V(Output) V(Pre)

.temp 45

.param Cdom=180p Rdom=150u

.param Cp2=2n7 Rp2=620

.param Cz1=62p

-1/(1-1/(2*(i(Vi)@1*v(x)@3-v(x)@1*i(Vi)@3)+v(x)@1+i(Vi)@3))

.step param prb list -1 0 1

.ac dec 99 1e1 1e8

Aol==91dB
@10kHz==78dB
@20kHz==68dB
GM==13dB; PM==60°
THD(20kHz|20V)==0,006%

K==22,5 (+27dB)

Iddle current, per BJT:
R25==100
@27°C, 29mA
@45°C, 28mA

Factory C8==0u22
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